item_sub codcomp. | cadsub.comp Livello Qta ASM | Qta Part
A ! !
c B ! ¢
3 C ! ¢
4 ) ! ¢
KK ! !
I KK1 ¢ !
¢ KK? ¢ I
3 KK3 ¢ I
4 KK4 ¢ I
D KK3 ¢ I
b KK6 ¢ !
[l ! ¢
1y ! ¢
RR ! 2
WW ! ¢
| WW1 ¢ I
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prablem in nested repeat tables

what relation o insert to count the total pieces of components in the WWW sub
assenbly?

See the attachment

www = 2 pieces so T have to have wwl =2 wwP=2 ww3=2 pieces

[T takes a relationship T don't know about

note: [ have now put the &rptaty paraneters in both the Q.ty ASM and Q.ty Part
cells of the nested repeat table



